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—. BB (K KESL 12 /MR, /8545, 31604, FIEE 4 NMETHRE - NMRFEEEER), 2 .
L #fA A={xeN'[x" ~2x <0}, B:{X%ggg}, W ANB = 9. BRIERE, PIEE +5 e o WA
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C. —+—> —t—<—+— i=i+]
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AR B, Y 5 X MR EL T y— 32x+a, ACRK=0986, IITHIHZEH B Ff(x)=sintexs 3 Jle=0), 15 )= 13 (X ZEDEIRI| G g | EATRAMIL, SERAAE
A, BEX, VPSRN MM EE: B, a—d0s ) y I y
C. Mx=858, YfhiliN 128, D. I T 4 (105,6) f542 % 0.4, A3 5. 1 c. Y% D. {a)w:Sk—S,keZ}
4. FHH{a, RN A S, , M« S —M”%“iﬁﬁu{a}%ﬁm”m Xy
: n WA Sy WS, =—— s 25 12, WLC: 5L ~1(a> 00> 0) WETIAN A, HANF , LA 2, MHHN 4.1 M R ILL
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A. — B. — C. & D. 5 MEHEFX
A. y=f(x)+g(x) B.y=f(x)-g(x) T . HEBE (RS 4NE, MBS, FE2040)
a(x) 5 13. (x+1)(1-2x)" HREFF R X 1 BEON CHEFAEED
C. y:f(X)g(X) D. y= f(X) -6 X+y<3
14. CEIBE X, yWig: (vy<2x , Mz=x"+(y-1?f5MEN
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c. D—C;%ﬁ D. E_%@ E M ATGHHETIAG LA SR A = ARARL AL D, BHL 40k el MR DT 90°
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16. CIE XAER BRI H f (X)>0, e f(x) f(x+2)=4, Hwvxe[-11], f(x)-f(-x)=4, 4
A<x<On}, f(X)=2"+k(k A%, LT XK f(x)-log, (x+1)=1(a<8Ha=1)HHH A 34
ANTRIEOAR, DU BEHE BT Z AR GE S EfI9R5)

O % f(x) MEYT =2 @ f (x) £ [-L1] Btk

® f(x) MR T B x =13k @s%a E‘JEME?@%(Z, 2\/5)
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17. (124)) @K f(x)=m-n, Hehfgim=(2cosx1), n=(cosx3sin2x).
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FIWT a ABC (TR, FEU0 B .
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0.020 f------
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. 2 7 X X2 X X
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Inx k
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2
g 21 1(2Inx+x " 1k}<0.é\g(x)=2lnx+(x—3k, g() =0,

N2, 1 > l
4 xe(0,1) [, ﬁd)’ 2 x (1, +0) i}, H>O.

Y xe(0)Kf, g(x)>0, %Xe(l,+oo)|§lq‘, g(X)<0,

2 1
g’(x):x+(1+xzjk, o' (1)=2+2k=073k=-1,

2 _ 2
Bk <10, g’(x):g+[1+ijksg—(1+ij:—x _2X+1=—(X Y <0.
X

NG X X2 X2 NG

2 @ (%) 7E (0, +o0) LB, 414 xe (O, g(x)>0, Hxe(L+o)if, g(x)<O0.

k=0, x>0, g'(X)>0, g(x)7E(0,+0) bRt %, Ao,

—1<k<Oif, HQ(X)=0/ka®+2x+k=0, A=4-4k*>>0, WHEHAEWMNRELRX,X, ,
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BRI B > 0,%, >0, BHARAT 1B RAT 1, AEE0<k <1<k,
XX, =1

W x <x<x B, g'(X)>0, g(X) 7 (%) Frpifiss, R, gk, k<-1.

22. fift: (1) 1 psin’@=2acosf(a>0)73: p’sin®6=2apcosh,

x:—2+£t
2
V2

=—4+—t
y 2

oM C B A AR TR e Y = 28X, WEUE, y+A=x+2,

SHZNVEE R y=X-2.

x:—2+£t
(2) HLHBHOTE N 5 (CHZHD, RN Y2 =2ax, B2 -2J2(4+a)t+8(4+a)=0,
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> 1 1
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. 1 1. ...
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W 1 1 . 5
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5
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~(ac+bd)’ = (ac)’ +2abed +(bd )’ < (ac)’ +(bd ) +(ad )’ +(bc)* =(a*+b*)(c’ +d*)=2, - ac+hd <2 -

va, b, ¢, dESEIEH, M HHa=b=1, c=d=%ﬂﬂﬁ(“=”, ac-+bd BRI Z2 .
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